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And if you say that ‘change’ acquires — 71 W NBRR ONY

OVERVIEW

XV9X °21 ruled that if a thief stole a 750 and it became an X, then if he is 1AW
90121 he is not liable for ' '7 because he was 17137 the "11°w2 9°X and he is 7971 71210
his own animal. X117 °27 challenged this view from a Xn>72 which states that in a
case of X nwyn 1w the thief pays '™ '7. This proves that "W is not np for
otherwise 121 2w R 12w, It appears that i1 is of the opinion that 723 1R MW,
However, mooin qualifies this understanding.
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The explanation of the assumption of X1°177 " that M11°w is not 7137 is only in such a

case where the sheep that he stole became a ram -
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However it is obvious that even 117 agrees that generally 1w is 719 as the X3

will shortly state that 1> is 7232 according to 57''2. It is obvious that 1" will follow
the view of 71"2 (that "I°w is 711p) rather than the view of w"2.

SUMMARY
X1°r ' maintains that 719 1°R "W (only) by X 7wy 17%v; however generally he
agrees (with 7"2) that 711p MW.

THINKING IT OVER

According to Moo that by nN?10 [XWYY 00N even X1 ' agrees that 71p WXY, then
why does nww 27 later answer that the Xn>12 (which states that by 2°X 7wy 720 he
is required to pay 'm '7), is according to w"2 who maintain (by N0 JXW 1°0) that
MW is not 71P; the N2 can also follow the opinion of 7"2 (who maintain that
MW is 7P by N0 W o°vn), for perhaps even 171"2 agree that only by a o°7°2 "W
(such as N910 IRWYY D°0N) is 7P MW, however by a X?an7 MW (such as 7wy 770
2°X), then "11°w is not 7P (just as X31°17 ™ maintains)?!3

! 1" maintains that %°X 7wy 790 is not considered a 1w, since this is part of the natural growth of the animal;
nothing external was done to change it.

2 1mwn 7102, The case of the nponn between 71" "1 is by o°v’n which were ground into flour. [In that case 7"2
maintain that the "11°w is sufficient that it is not considered 11117 11nX.] In this case there was a change effected through
the person and not merely by natural growth as by 7>k nwy11 7. Therefore even n"1 agrees that this type of "W is
.
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2. Why must we say that 11" maintains 737 "°w? Perhaps 71"2 is discussing only
4
the rules of 130X, but not the laws of »11>w as M90N asks later MW DX JINR 11V 727!
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